
 

 

SOLVE THE FOLLOWING EQUATION 3 

 

1.                                                    2. 

   

 

 

 

 

 

 

 

3.                                                                                        4.                                                              

                                                 

 

 

 

 

 

 

 

5.               6.   

 

 

 

 

 

 

 

 

7.                    8.  

 

 

 

 

 

 

 

 

 

 

SUCHI BANSAL 

 

 

𝟒𝐬+𝟔

𝟒
 = 343 

 

-6P - 713 = -972 

336 = 133 + 10A 
234 =  

𝐋

𝟒
 - 88 

 

𝟐(𝟒𝐓+𝟑𝟑)

𝟓
 = 32 

𝐌−𝟎

𝟐
 = 0 

 

4(2J-70) = 40 

 

5(N-4) + 5 = 45 

 


